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Physics 11
Unit 6 - Momentum and Impulse

Section 6.1: Momentum

Every moving object has momentum, which is a measure of

how ecaced Lou shoud be of  semeinag Qming ok you.
Momentum depends on ye\Qg:‘f\-a and "MNOSS .

W\ c\\o\l ; .
0 (m
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What are the units of momentum?

ﬁe ™M oc \ R (“3\

5 N-S (Newsron 5econds)

Example: A 10,000 kg train is traveling at 5 m/s east.
a) Whag its momentum?

p =™ \7
= 10,0004 % Smys
= 50) Q00 «gm,s east
b) How fast would a 730 kg smart car need to g0 in order to have the same momentum?

D = ﬁ\e
50,000 xgm, g = (130%a\T
50,000 =
730 03HAm 5  0r 2U6.G wm/h
When an object experiences a net force, its momentum changes. It’s often useful to calculate the
change in momentum (a.k.a. VA ,D ) A = p na\ — \(\'\' al
Example: A bouncy ball strikes a wall at 32 m/s east and bounces back at 20 m/s west. Calculate Ap.
ac
0.0% va
32 M,S
ap= Re = Py O,
£
= W -y, om0
£ W\V\ 20m /5 1 9
’ ~

.56 kgm /s westis Ap




